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. 3,3 8333 [Option ID = 7045]
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. ®ovg3 83133 [Option ID = 7047]
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1. 8oFess IFdwywod [Option ID = 7053]
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Xefer3sd 9O [Option ID = 7057]
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. 938 303 [Option ID = 7059]
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oo.bdocﬁd n3, 38 wdmwam [Option ID = 7061]
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. o886 [Option ID = 7065]
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1. A-11,B-1,C-1V, D- Il [Option ID = 7069]
2. A-1,B-1lI,C-1ll, D -1V [Option ID = 7070]
3. A-IV,B-1ll,C-1,D- Il [Option ID = 7071]
4. A-1l,B-1V,C-1l,D-1[Option ID = 7072]

9) 33 1 < 363 11 B RSt BeoBS WO




33 | a3 1l

A. Swdad 3,3 0b; |. 3908e° Me,T° e57° Loerf 3IQ
B. oerf.03300 Il. 87oresd 3,dabBR

C. B.07°.mood* Ill. 8Joexy Sorte dTes

D. ©0.90.800A¢ IV. 33wex Nezood

8 3YNIYYY TOen evZTBRY, esad), Sred.
[Question ID = 1769][Question Description = S2_qSNz_PG_KAN_Q19]
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2. A-1,B-1l,C-1ll, D -1V [Option ID = 7074]
3. A-Il,B-1V,C-1,D- Il [Option ID = 7075]
4. A-1ll,B-1V,C-1,D- Il [Option ID = 7076]
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1. A=@) B 3593, [Option ID = 7077]

2. D &) C &o3, [Option ID = 7078]

3. C &g [Option ID = 7079]

4. E &593, [Option ID = 7080]
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1. A@da) B @593, [Option ID = 7081]

2. CR E 33, [Option ID = 7082]

3. B &s, [Option ID = 7083]

4. D @593, [Option ID = 7084]
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1. A3 C 503, [Option ID = 7085]
2. D &) E 3593, [Option ID = 7086]

3. B &a, [Option ID = 7087]
4. C @93, [Option ID = 7088]
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1. D &) E &0, [Option ID = 7089]

2. B&@) C 358, [Option ID = 7090]

3. D &3, [Option ID = 7091]

4. A @3, [Option ID = 7092]
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. A, B, C, D, E [Option ID = 7093]
C, E, B, A, D [Option ID = 7094]
D, C, A, B, E [Option ID = 7095]
B, E, A, D, C [Option ID = 7096]
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Bed3- : | 33, - Be@3-11 IO [Option ID = 7097]

TeP3- 1 | ) - TePS-1l 3, [Option ID = 7098]
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1. D &) B &0, [Option ID = 7101]

2. AR C 38, [Option ID = 7102]

3. D &3, [Option ID = 7103]

4. Ea3) D 93, [Option ID = 7104]
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A-1Il,B-1,C-1V, D - Il [Option ID = 7105]

A-1,B-1ll,C-1V,D-1l [Option ID = 7106]

A-1l,B-1V,C-1,D-lll [Option ID = 7107]

A-1,B-1l,C-1,D- IV [Option ID = 7108]
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1. P93 | RO DR BedS |1 IO [Option ID = 7109]

2. 393 | Bz DR ®eP3 I <O [Option ID = 7110]

3. Be9B | B, DR BedB Il B), [Option ID = 7111]

4. BePB | IO DB T3 Il 3= [Option ID = 7112]
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1. 0208339 I3 wesdd [Option ID = 7113]

2. Bordoh NS Pobd eesAE [Option ID = 7114]

3. eIy ICRDWS B)33Sd s [Option ID = 7115]

4. VBB RoBS DT 39=IT [Option ID = 7116]
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. 8dabay [Option ID = 7117]

. A2BF3RRy [Option ID = 7118]

. 3@ [Option ID = 7119]
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033 FOBY, GLoBSIY, [Option ID = 7121]
DTS 0 meBdabY, [Option ID = 7122]
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1. ®.8.330%ee390° [Option ID = 7125]

2. dgaty @oeeds® [Option ID = 7126]

3. 23eried B@Bede [Option ID = 7127]

4. 8.9.100a@z, [Option ID = 7128]
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. 230@ [Option ID = 7129]

. 33 [Option ID = 7130]

. 2sorted [Option ID = 7131]

. &g« [Option ID = 7132]
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. @meg [Option ID = 7133]

. e5aa3e3 [Option ID = 7134]

. ZwesResd [Option ID = 7135]

. %@ [Option ID = 7136]
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. eadrorbees [Option ID = 7137]

. Gp®m2033 [Option ID = 7138]

. Jpedeed [Option ID = 7139]
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1. &b [Option ID = 7141]

2. ¥.30.83abdsaky [Option ID = 7142]

3. 8.02.3 89, [Option ID = 7143]

4. ox°.8.80e0a9x* [Option ID = 7144]
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1. A&a) B 3593, [Option ID = 7145]

2. B &) D 3593, [Option ID = 7146]

3. C @ E 3593, [Option ID = 7147]

4. D23 E 353, [Option ID = 7148]
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1. A=»@) B 3593, [Option ID = 7149]
2. A3 C 393, [Option ID = 7150]
3. Ca@& D a9, [Option ID = 7151]
4. D) E &ea, [Option ID = 7152]
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1. A®@) B &3, [Option ID = 7153]
2. A3 C 393, [Option ID = 7154]
3. Ba»3 D 33, [Option ID = 7155]
4. D &) E &0, [Option ID = 7156]
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1. A3 B 3593, [Option ID = 7157]

2. B&3a@) C 593, [Option ID = 7158]

3. C &) E S [Option ID = 7159]

4. D@ E 353, [Option ID = 7160]
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1. AR3) B @593, [Option ID = 7161]

2. AR C 398, [Option ID = 7162]

3. C &3 E &3, [Option ID = 7163]

4. D @) E 3598, [Option ID = 7164]
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A-1V,B-1ll,C-1l,D-1I[Option ID = 7165]
A-1l,B-1,C-1V,D-Ill [Option ID = 7166]
A-1,B-1l,C-1V,D- Il [Option ID = 7167]
A-1I,B-1V,C-1, D -l [Option ID = 7168]
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1. A-1IV,B-1ll,C-1, D-Il[Option ID = 7169]
2. A-1,B-1IV,C-1l,D-Illl [Option ID = 7170]
3. A-1ll,B-1,C-1V, D-I[Option ID = 7171]
4. A-1V,B-1,C-1ll, D- Il [Option ID = 7172]
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A, B, E, C, D [Option ID = 7173]
D, E, A, B, C [Option ID = 7174]
D, C, A, B, E [Option ID = 7175]
B, C, A, E, D [Option ID = 7176]
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. D, E, B, C, A [Option ID = 7177]
D, C, E, A, B [Option ID = 7178]
E, D, A, B, C [Option ID = 7179]
E, B, C, D, A [Option ID = 7180]
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2. (a) 3 (d) [Option ID = 7374]
3. (b) @a(c) [Option ID = 7375]
4. (c) & (d) [Option ID = 7376]

85) DZPeessa et eonndd SBVDTRAW -
(A) 0. 3D 9. DZNY BeUTT a. DIYNY NeITRW



(B) 0. 38 9. Bedrewod FAToh3 a. HVTZ o3
(C) 0. R 0. JoNed 2. ByF;
(D) 0. T 9. BeEIB a. BRI FoNes

[Question ID = 1845][Question Description = S2_qSNz_PG_KAN_Q95]
1. (A) 3 (B)

[Option ID = 7377]
2. (B) 3 (C)

[Option ID = 7378]
3. (A) @3 (C)

[Option ID = 7379]
4. (C) D (D)

[Option ID = 7380]

86) aInYY aIHD BeodBabrord3d

33 | 2ed 1l

A. 1g;Z;00bO Jod3 oowntd . w@TRBBhY, BeodF

B. 33 ©o&3 3O 233 I1. red odrord Bowod evPdBeoBL)

C. JoBweahBeodrt I JebTe . 838 &3, beetrood B3,
eI A

D. 83T IV. Bredwond

[Question ID = 1846][Question Description = S2_qSNz_PG_KAN_Q96]
1. A-IV,B-1,C-1l,D-1

[Option ID = 7381]
2. A-lLB-1,C-1,D-1V

[Option ID = 7382]
3. A-1l,B-1I,C-1V,D -1

[Option ID = 7383]
4. A-IV,B-1l,C-1I,D-1

[Option ID = 7384]

87) 2a3dnvd aiegdmd BeodBadrer3a.

33 | 3ed 1l

A. 3edonrt l. 593 Beetd

B. @ Sozeded wadormeo® 1. Bexb aJDewad
C. o 1. de3BF TS,

D. 3,90 IV. d3o3803 rfod

[Question ID = 1847][Question Description = S2_qSNz_PG_KAN_Q97]
1. A-1,B-1,C-1v,D-1l

[Option ID = 7385]
2. A-IV,B-1,C-1l,D- 1l

[Option ID = 7386]
3. A-1ILB-1,C-1,D-1IV

[Option ID = 7387]
4. A-1,B-1l,C-1ll,D-1IV

[Option ID = 7388]

88) ®e93 :
“Jad,, Doy, Sob R0BI %&aﬂoeg B0 BB D02 IRDTO DHY,ab 23ed VY. eB DI BN FoY Tert SBobded Do) JRWDTY”
P el M

TR BTN FeeBDRTOTT ﬁabﬁdrwo Q3. 8T B3 m@ddai& It oedrie 2.:23) BHHB08 SOSSrRDYD Bert wowde I, BN
esdézéoinr{?je&

[Question ID = 1848][Question Description = S2_qSNz_PG_KAN_Q98]



BedB BO, ISV 3=, [Option ID = 7389]
e 3O, IS <O [Option ID = 7390]

Be98 32, AV 3, [Option ID = 7391]
Be93 32, AT <O [Option ID = 7392]

A W N -

89) Bes :
BZTNDS B eedabd FeTo rhodd Brveesatia) HOW Y, A, Idrie!
AT

eedo0 o0 38 agdriee BATT rhod 83N Srie DRead Boemd

[Question ID = 1849][Question Description = S2_qSNz_PG_KAN_Q99]
FeDd B0, IS0 3=), [Option ID = 7393]

TeP3 Bw), JS0E 3, [Option ID = 7394]

Fe93 3m), IS0 <O [Option ID = 7395]

BeDE 30, ISTR <O [Option ID = 7396]

A WN -

90) 8 BYNIYINYRY, SowodTadmon HHER.
A. Bz

B. odaded

C. 883 33wy

D. »@3w Dow

E. 2308 Zo%0 &xF edes,

[Question ID = 1850][Question Description = S2_qSNz_PG_KAN_Q100]
. A, B, C, D, E [Option ID = 7397]

1

2. B, A, C, D, E [Option ID = 7398]
3. E, A, B, C, D [Option ID = 7399]
4. D, C, A, B, E [Option ID = 7400]

Topic:- GP38_D3_SH2_SET2_A

1) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

Student physics Chemistry Math History Computer | Hindi
(100) (100) (100) (50) |Science (50)| (50)

A 80 76 68 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 32 31

D 75 79 58 28 o8 34

E 45 65 62 31 29 28

F 68 72 68 2 34 30

ARl ot eAreyd® ufeu iz 331 u? snenf¥a gest or 3R difvre @
offa & a1¥ AArRvil 3 vas udien 3 6 fenfRi grr 6 3rcrr - srcreT fareril 3 Y fpu 319 3iwvl @1 yferera & &

feuvfl : wrsow 3 & 91 FwA YA faerRr i siferasaer il & an 3 aarar 3

fererr (siferapiferep)
siiferbt Rl fasel | 3 | iR || dawic: fase
feremeff 2ér (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34




65

62

31

29

28

72

68

26

34

30

What is the percentage of total marks obtained by student A?

feremeff A gt gra fpw s1e et sipl @1 gferora a=m 3 ?

[Question ID = 2730][Question Description = S2_qSNz_PG_GP38_Q01]

1. 71

[Option ID = 10917]
2. 74

[Option ID = 10918]
3. 73

[Option ID = 10919]
4. 72

[Option ID = 10920]

2) Study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

student Physics Chemistry Math History Computer | Hindi
(100) (100) (100) (50) Science (50)| (50)

A 80 76 68 40 36 4

B 90 68 72 42 38 26

C 85 81 75 38 32 3

b 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARl @l eareyde uféu sz 33 u? smenf¥a gt @I Ja= difste :

off<l &t o1 ArRvfl 3 v udlen & 6 feenfRil grRI 6 srcrI - srcreI fawril 3 yra fpe s1e siwl @ yfererd G 3

feouvfl : isow @ &1 o1 AN Y@ faern d siferoaa il & aR d gar 3

frwr (IR IwIRD)
siiferdl | RARIo Ao | @11 | sferRt | @aRIe: frston
fremeff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the difference of percentage in the total marks of students D and E?

fRreneff D 3iiz E @ aqget il @ yferera 3 fodon siaz 3 ?

[Question ID = 2726][Question Description = S2_qSNz_PG_GP38_Q02]

1. 9.28

[Option ID = 10901]
2. 9.68

[Option ID = 10902]
3. 9.43

[Option ID = 10903]



4. 9.34

[Option ID = 10904]

3) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Chemistry Math History Computer | Hindi
Student

(100) (100) (100) (50) Science (50)| (50)

A 80 76 68 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 32 31

D 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARl ol eareyde ufeu iz 31 Uz smenf¥a ggsl or a2 S @
offa €1 ar¥ ARvfl 3 vas udien 3 6 fenfRi grRI 6 3remT - 3rcrT freril 3 Y fpu 31w 3iwpl @1 yferera &= 3

Rouvfl : dreom 3 St o1 e YyA® ferr d siftrasad il @ an i aarn 3

fererr (siferapiferes)
siiferbl | IRl frsor | o1 | sfererr | wawper fsmor
Rremeff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the average marks of students in Physics, Chemistry, and Math?
siifere farstet, aIRIa farstet siiz s1fdra 3 fenfeRi o1 sz sic o 3 ?

[Question ID = 2727][Question Description = S2_qSNz_PG_GP38_Q03]
1. 212.6

[Option ID = 10905]
2. 214.5

[Option ID = 10906]
3. 213.7

[Option ID = 10907]
4. 210.4

[Option ID = 10908]

4) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

Physics Chemistry Math History Computer | Hindi

Student X

A 80 76 68 40 36 24

B 90 68 72 42 38 26



D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

ARl ot eAreyde ufeu siiz s ur smenf¥a gest o IR e @
ofla &t a1$ ARVl 3 vas udien 3 6 fenfRil grRI 6 3rcTT - 3icreT ekl 3 Y fbu 31w il @1 yferera fum 3

feounfl : wreow 3 St o1 Fwr yRI® e # siftrasaar sicl @ an i aar 3

frewer (IR IwIRIT)
siifrbl | el fsar | oifdra | sfererer || wawer farsmor
foremeff fZér (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

Which student obtained maximum marks?
o=t fereneft of siferepaa siee gra fopem ?

[Question ID = 2728][Question Description = S2_qSNz_PG_GP38_Q04]
1. A

[Option ID = 10909]
2. B

[Option ID = 10910]
3. C

[Option ID = 10911]
4. D

[Option ID = 10912]

5) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

Student physics Chemistry Math History Computer | Hindi
(100) (100) (100) (50) Science (50)| (50)

A 80 76 68 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 32 31

D 75 79 58 28 28 4

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARl oY eATeyd® ufeu iz 331 u? smenf¥a gest ot IR difvre @
ofla & a1¥ ARVl 3 vas udien 3 6 fenfRil grRI 6 3rcrT - 3icreT faerIl 3 Y fbu 319 it @1 yferera 3 &

feouvfl : wisow 3 & 91 FweA yA® fawRr i siferasaer il & an # aara

forerr (3iferepiferes)
I | |




siiferbl | rrel fsar | ofdra | sfererer || wawer fersmor
foremeff &g (50)

(100) (100) (100) | (50) (50)

A 80 76 68 40 36 24

B 90 68 72 42 38 26

c 85 81 75 38 32 31

D 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

Find out the number of students who obtained more than or equal to 60% marks in all subjects?
Jol RrenfeRIl &bt Fizen sra Hifsre RKiosier 21sft freril 3 60% = 3311 3iferp i yre fopdx ?

[Question ID = 2729][Question Description = S2_qSNz_PG_GP38_Q05]
1. 4

[Option ID = 10913]
2.3

[Option ID = 10914]
3.2

[Option ID = 10915]
4.1

[Option ID = 10916]

Topic:- GP38_D3_SH2_SET2_B

1) The theory of Zone of Proximal Development was proposed by :
Ffluzer famrRT @ Sifer @ Rigia o fbads grr gferafea s srem ?

[Question ID = 2731][Question Description = S2_qSNz_PG_GP38_Q06]
1. Piaget/fo=mor

[Option ID = 10921]
2. Freud/wrs

[Option ID = 10922]
3. Vygotsky/arssicidbt

[Option ID = 10923]
4. Bloom/sca

[Option ID = 10924]

2) In libraries, the process of digitization began with services in the following order :
A. Periodicals and large reference works

B. Cataloguing services

C. Periodical indexing and abstracting services

D. Book publishing

Choose the correct answer from the options given below :

graoIcril 3 fopel Aarsii & A1 YRH 3ol &l Bfiafewur &I gfepn o1 foaifeiRaa o 3 :
A. smmafére ufeeru iz gad cs! arar orRl

B. 3t sorror &t Jart

C. smafére ufefer 3io]aafdTeT Jolloll 3R AR Adrd

D. gza®s @1 yoiore

il 3w a1 fraseul 3 A W& IR DI WAl HIRdIE ©

[Question ID = 2732][Question Description = S2_qSNz_PG_GP38_Q07]

1. A, B, C, D,

[Option ID = 10925]
2. B,C, A, D

[Option ID = 10926]
3. C,B,D, A



[Option ID = 10927]
4. D, A B, C

[Option ID = 10928]

3) Given below are two statements :
Statement I: Short-term memory encompasses encoding and short-term storage and manipulation.
Statement II: Short-term memory has a limited capacity.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 perot fu are 3 :
Dol - | : scuPIferd Y Dedg Pl IR ScUPIicid HSRUI 3R SIS - dIs &I iR ol onfde @l &
@l - || : srcuwmiferd Fgfer & Aifda grar sl 3

SRt Dsil @ siclid 3, ofld U a1e famcul 3 A AT WY IR DI W6l DI

[Question ID = 2733][Question Description = S2_qSNz_PG_GP38_Q08]
1. Both Statement | and Statement Il are correct/aerat | 3ii2 || Sl &8 &

[Option ID = 10929]
2. Both Statement | and Statement Il are incorrect/eret | 32 || Sl a1cta 3

[Option ID = 10930]
3. Statement | is correct but Statement Il is incorrect/wmermer | 3@t &, fpog @ert || arer &

[Option ID = 10931]
4. Statement | is incorrect but Statement Il is correct/@ert | srera 8, fpog weret || 31 &

[Option ID = 10932]

4) Which tools will you use to prepare schedules and class time tables?
A. Microsoft Outlook

B. Trello

C. Google Calendar

D. Tally

E. Koha

Choose the correct answer from the options given below:

PRIl 3R P AR - A0 DI TR P FARI 31U Dol Al FFep=il DI IueT B ?
A. AEpRiiTe sEcdd

B. gei

C. 3pr delvs

D. &t

E. orer

ofid fou a1 feal & A A8 IR BT wRIeT Hifdre:

[Question ID = 2734][Question Description = S2_qSNz_PG_GP38_Q09]
1. A, B and C only/dae A, B siiz C

[Option ID = 10933]
2. B, Cand D only/dae B, C sz D

[Option ID = 10934]
3. C,DandE only/@ae C, D siiz E

[Option ID = 10935]
4. A, Cand E only/dae A, C 3iz E

[Option ID = 10936]

5) Match List | with List Il

List | List 11

IModel of Teaching Developer

IA. Positive interdependence I. Robert Slavin
B. Structured inquiry Il. Fannie Shaftel
C. Group investigation Ill. Roger Johnson
D. Role playing IV. John Dewey



L 1 1
Choose the correct answer from the options given below:

et -1 Bt el -1l A AR Hire ;

et -1 R il

(frgror aifscr) (RrepTet @or arct fargron)
A. ADRIcHD WRIUR forsfzar |. 3z Fenfeer

B. ¥ifera geor Il. woft offreer

C. 3193 reauur lll. ISR Sifortor

D. sxfdreot foredaot IV. Sifor 3

ofld R s1e faweul 3 A A} 3a= gfore :

[Question ID = 2735][Question Description = S2_qSNz_PG_GP38_Q10]
1. A-ll,B-1,C-IV,D-l

[Option ID = 10937]
2. A-1,B-IV,C-Il,D-ll

[Option ID = 10938]
3. A-IV,B-Il,C-lll,D-l

[Option ID = 10939]
4. A-11,B-lIl,C-l,D-IV

[Option ID = 10940]

6) Which one of the following is a non-parametric statistic?
forraiferRaa 3 A ®let v 3R - yrafere Ailsadt 3 ?

[Question ID = 2736][Question Description = S2_qSNz_PG_GP38_Q11]
1. F- statistic/F - Jif3=rbt

[Option ID = 10941]
2. t - statistic/t - JiR=rbt

[Option ID = 10942]
3. Pearson's correlation/drricr @ - Jider

[Option ID = 10943]
4. Spearman's correlation/>dRdel @1 35 - ider

[Option ID = 10944]

7) Given below are two statements :

Statement I: Use of multivariate statistics in social research has increased due to the availability of statistical software.
Statement Il: Multivariate statistics are easier to comprehend as compared to the bi-variate statistics.

In light of the above statements, choose the correct answer from the options given below :

ofil &t werer Ru sme 3 :

Dol - | : ATISID rofieIe] 3 dgeR AIRKRID! DI IUIIPI ARRIDR ATFCARR DI IUCTELIAT B PRYI §G R &

@l - |l : gger ARlRbI, fHaz Aif¥cadt &I qeren # Fasel d R16 3

SRt @il @ 3irelld 3, il fu s1e fameul 3 A JEl IR @I w6l HIfdIE

[Question ID = 2737][Question Description = S2_qSNz_PG_GP38_Q12]
1. Both Statement | and Statement Il are true/erar | 3iiz || Sleil Jcer &

[Option ID = 10945]
2. Both Statement | and Statement Il are false/a@erer | iz || Gloil sRiT &

[Option ID = 10946]
3. Statement | is true but Statement Il is false /et | 311 8, fbog @t || sricT &

[Option ID = 10947]
4. Statement | is false but Statement Il is true/mermt | spic 8, fbog wer || 1 &

[Option ID = 10948]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The value of correlation coefficient is in the range of -1 to +1.

Reason R : Correlation between two variables doesn't help in predicting the value of a variable even if we know the value
of another variable.



In light of the above statements, choose the correct answer from the options given below

il 3l erel fRu 51w 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & »u 3 :

ifdreperet (A) : A@Ade JUTicd Bl A6l -1 A +1 D R D dia 3 dar 3

@rur (R) : 302 3 TRl & AsHEET A UB TR D Aol DI Ydioldlel Dol i DI ASRIAI ofdl frerct 3, Afe 331 ga¥ TR 1 Aot uer 9t A
SURID el @ 3Iciid H, ofld fou faacal 3 A I8 3az @1 wRIol Hifsie -

[Question ID = 2738][Question Description = S2_qSNz_PG_GP38_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glali 31 3 3 (R), (A) &t 3 =z &

[Option ID = 10949]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3l (R) glell 3= & woq (R), (A) &t 3 =ren ot 8

[Option ID = 10950]
3. Ais true but R is false/(A) 31 8 woq (R) s @

[Option ID = 10951]
4. Ais false but R is true/(A) sric 8 udoq (R) 31 8

[Option ID = 10952]

9) Focus groups as a technique is especially valuable in which of the following scenarios?
A. When the researcher has perfect clarity about the research.

B. For obtaining general background about the topic or issue.

C. For interpreting previously obtained quantitative results.

D. When the researcher is interested in establishing a causal relationship between two variables.
E. For generating a level of understanding about influences in the participants’ world.
Choose the correct answer from the options given below:

foratferRaa uf¥egl 3 v awoiles @ »u 3 Biga s a9 u A w3 @

A. g ofterasat @1 oiter @ aR 3 gdsUuT FuTCAr 3t

B. <iftre srerar #g @ a1 3 ARG YAHDT Yra Dol

C. gd 3 yre fpu s1e uftavncre afevndl & IR Bl

D. S ottt 1 TRt & i dRUIcHAD Adel Dl Fenfird mor bl sTa1 23 A

E. yicrereil giorm 3 gsidal @ a3 3 ST DI IR IcUool DIl

il fou s1u frapeul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 2739][Question Description = S2_qSNz_PG_GP38_Q14]
1. A, B and D only/dac A, B siiz D

[Option ID = 10953]
2. B, Cand E only/@ac B, C siz E

[Option ID = 10954]
3. B, D and E only/dact B, D 3z E

[Option ID = 10955]
4. C,DandE only/@aa C, D sz E

[Option ID = 10956]

10) Match List | with List Il

List | List 1l

Statistical TermsDescription

IA. Nominal |. Spread in values of data
B. Ordinal Il. Expected value

C. Mean |III. Ranking

D. Variance |IV. Categorization

Choose the correct answer from the options given below:

et -1 Bt 23l -1l 3 AR B :

fexeht -1 rrcht -1l

(iRl ug) (arofor)

A, onfarex |. ga @ Jreil 3 Berra
B. @fda Il. gyenfora et

C. sl |III.31%>’11

D. gzrvr V. siaafaszor




ofld R s1e faweul 3 A Al 3a= gfore :

[Question ID = 2740][Question Description = S2_qSNz_PG_GP38_Q15]
1. A-ll,B-IV,C-lll,D-I

[Option ID = 10957]
2. A-IV,B-lll,C-ll,D-l

[Option ID = 10958]
3. AN, B-l,C-IV,D-Il

[Option ID = 10959]
4. A-1,B-Il,C-IV,D-lll

[Option ID = 10960]

11) In non-verbal communication, ‘Chronemics’ refers to:

3r-onfegm AYYYT i "Bloifda’ oA At g ?

[Question ID = 2741][Question Description = S2_qSNz_PG_GP38_Q16]
1. Time/3#x

[Option ID = 10961]
2. Place/zermet

[Option ID = 10962]
3. Space/3ror

[Option ID = 10963]
4. Person/=iftp

[Option ID = 10964]

12) In communication, semantic barrier refers to :

YT #, grecrel aren fpRI AdfiEa 3 ?

[Question ID = 2742][Question Description = S2_qSNz_PG_GP38_Q17]
1. Denotative meaning/g=mef

[Option ID = 10965]
2. Varied connotations/fefder igepref

[Option ID = 10966]
3. Truth/ze

[Option ID = 10967]
4. Singular meaning/udbet aref arelr

[Option ID = 10968]

13) A leave application from a clerk to the principal of the institution, is an example of :
TP Tl D YeIeIar] ol s fiftras A g srawmrer a1 yrefotiucg fabar Aguur o1 3gis2vr 3 ?
[Question ID = 2743][Question Description = S2_qSNz_PG_GP38_Q18]

1. Downward communication/srelgpdl Ituor

[Option ID = 10969]
2. Upward communication/3edadt ot

[Option ID = 10970]
3. Horizontal communication/giferst iuur

[Option ID = 10971]
4. General communication/3mreeT Juur

[Option ID = 10972]

14) In which one of the following types of communication, the client initiates a transaction by requesting information from
a server?

HYHUT @ _ 3 YR A tb AR A Jdoll Y Bl Dl AdT GRI Adrell ARMaeR YR Bl 3
[Question ID = 2744][Question Description = S2_qSNz_PG_GP38_Q19]
1. Education Technology/fd1en glenf3rbt

[Option ID = 10973]
2. Pull Technology/get gienfdrebt

[Option ID = 10974]
3. Ancient Technology/yrcter gienfarbt

[Option ID = 10975]
4. Push Technology/gor gielfSrht

[Option ID = 10976]



15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Being judgemental on the part of a teacher is a barrier to communication.

Reason R: For effective learning outcomes, the teacher should expose the ignorance of students.

In light of the above statements, choose the correct answer from the options given below :

il 3t erel fRu s1e 3@ uep sifdraperet (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & wu 3 :

sif3reperat (A) : 191810 Bl a6 I IR ol ol HYWUT b U aren 3
@Rl (R) : gard siffera ufyvmer o fore Rreie ol fenfRil & JICy @I yase w2 aifde
SURID il @ 3Icllid H, ofid fou faacal 3 A A 3az @1 wRIor HIfvIe -

[Question ID = 2745][Question Description = S2_qSNz_PG_GP38_Q20]
1.

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3 & 3iR (R), (A) & 38 e 3

[Option ID = 10977]

2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3l (R) g6l 3= & waq (R), (A) &t A& =reen ot 8

[Option ID = 10978]

3. Aiis true but R is false/(A) a1 &, woq (R) st &

[Option ID = 10979]

4. Ais false but R is true/(A) srir 8, woq (R) 1 3

[Option ID = 10980]

16) In the series 358, 364, 370 what will be the 12th term?

| QU]

ojzerr 358, 364, 370, - - -, 3 12 ai ug o= ke ?
[Question ID = 2746][Question Description = S2_qSNz_PG_GP38_Q21]

1. 420

[Option ID = 10981]

2. 424

[Option ID = 10982]

3. 428

[Option ID = 10983]

4. 432

[Option ID = 10984]

17) Given below are two statements :

Statement I: An item is sold for ¥145 at a loss of 20%. The cost price of the item is ¥185.
Statement Il: The average of first 30 natural numbers is 15.5.

In light of the above statements, choose the correct answer from the options given below
ofid <1 weror Ru sre 3 :

@l - | : b arg 20% bt aifor Uz 145 . 3 Il st 3 avqg 1 P Jca 185 . 3

@ - |l : gerer 30 gropfere Azl o sira 15.5 dlar 3

SWRITS DUsil B IIclldD 3, ofi<l U s1u frapeul 3 A AST IR DI ol DHIfTT

[Question ID = 2747][Question Description = S2_qSNz_PG_GP38_Q22]
1. Both Statement | and Statement Il are true/aerer | iz || Sloil 3rcer &

[Option ID = 10985]
2. Both Statement | and Statement Il are false/a@erwr | iz |l Slail 3R &

[Option ID = 10986]
3. Statement | is true but Statement Il is false/@epr | 3= &, fboq @ee |l 3R &

[Option ID = 10987]
4. Statement | is false but Statement Il is true/wmeet | srpic 8, fboq et || 3 8

[Option ID = 10988]

18) Consider the following fractions:
A. 11/17

B. 5/6

C. 2/3

D. 4/11

E. 6/11



Choose the correct answer from the options given below
forgotferfRaa firoeill u? fmR HifSre :

A. 11/17

B. 5/6

C.2/3

D. 4/11

E. 6/11

forgotferRaa 3 wlot AT aGar g3 ALY oA 3 ?

[Question ID = 2748][Question Description = S2_qSNz_PG_GP38_Q23]
1. D<E<A<C<B

[Option ID = 10989]
2. D<A<E<B<C

[Option ID = 10990]
3. D<B<C<E<A

[Option ID = 10991]
4, A<D<C<B<E

[Option ID = 10992]

19) The angle made by the minute hand of a clock while moving from 3:45 pm to 6pm is :
uep i g3l 3 Beie &I JF SRI 3uRta 3:45 o1 A 3MaR1E 6 ast 6 3R SIId FIRT ToIRI SiTol dIcll BIvT Il 3 ©

[Question ID = 2749][Question Description = S2_qSNz_PG_GP38_Q24]
1. 540°

[Option ID = 10993]
2. 740°

[Option ID = 10994]
3. 810°

[Option ID = 10995]
4. 510°

[Option ID = 10996]

20) Four bells begin to toll together and then toll at intervals of 3, 5, 7 and 10 seconds respectively. They will toll together
next after :

arR =T v AT Setell YR BNl 3 3iiz fibe A a@aror: 3, 5, 7 3iiz 10 ADUS o sicRIcT UR Soicdl & d 3URT 3 U AT Yol: fbeal ADUS arg
ol ?

[Question ID = 2750][Question Description = S2_qSNz_PG_GP38_Q25]
1. 840 seconds/840 Adus

[Option ID = 10997]
2. 480 seconds/480 Aadus

[Option ID = 10998]
3. 210 seconds/210 Advs

[Option ID = 10999]
4. 240 seconds/240 Jdus

[Option ID = 11000]

21) Which of the following statements correctly apply to inductive arguments?
A. They are neither conclusively valid nor invalid.

B. Adding new premises makes no difference to the argument.

C. Adding new premises may strengthen/weaken the argument.

D. Conclusion follows from premises with absolute necessity.

Choose the correct answer from the options given below:

PHGICHD daardil Uz foraifeiRad & A ®iol A derel Al WD A APl 3 ?
A. o ar sifer u A der 3 3R ofdl 3 ¥ 3

B. oIQ 3renRdraR1 @l onfdred 2ol A dABAIGRI U DI P ofdl UsSdl 3

C. oTu memRara=I ot onfier Bl A award ARD / gdel 8l Adar 3

D. forUel smagacdr arel merRara A forsad formerd &



ofl feu a1g faweul A A A8 Iaz &I orRIeTl BT :

[Question ID = 2751][Question Description = S2_qSNz_PG_GP38_Q26]
1. Aand D only/a@aet A siiz D

[Option ID = 11001]
2. Aand Conly/@aet A sz C

[Option ID = 11002]
3. B and D only/dact B 3iiz D

[Option ID = 11003]
4. A and B only/d>aer A iz B

[Option ID = 11004]

22) Match List | with List Il

List | List Il

In Square of opposition Resultant propositions

IA. If 'No stars are Dull' is True I. 'E' and 'I' are Undetermined
B. If ‘'some flowers are fragrant’ is True Il. 'E" is False and 'I' is True

C. If 'All sweets are sugary' is True |III. ‘A" and 'O’ are Undetermined
D. If 'some animals are not mammals’ is True|IV. ‘A’ is False; 'O' is True

Choose the correct answer from the options given below:

et -1 ot 2t -1l 3 AR B :

et -1 Rrcht -1l

(forYer - arqeey & ) (afeummeht serRard)

A, afe "®rE ar wiferdior oél &' AT 3 I. 'E' sz 'I' siforf2rer &

B. Afe '@ Ber WYGR T A & Il. 'E'srrca 3 3R 'I' e 3
C. afe "w19ft Brors=f <ioft archt 3" a1 3 Ill. "A" 3fiz 'O’ afferfaa 3

D. afd '@o Sierar Faeiemt oél 3 AT & IV. 'A’ sraaca 3, 3ii ‘0" I 3

offa 3w o1w faepeul 3 3 A1) 3ar gforo :

[Question ID = 2752][Question Description = S2_qSNz_PG_GP38_Q27]
1. A-IV,B-lll,C-ll,D-l

[Option ID = 11005]
2. A-ll,B-Il,C-IV,D-l

[Option ID = 11006]
3. A-ll,B-IV,C-I,D-l

[Option ID = 11007]
4. A-1,B-Il,C-lll,D-IV

[Option ID = 11008]

23) Identify the fallacy committed in the argument.

All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women.
3 AGAI 3 JIY Dl gaIsT ©

Wil g Sil Al o AASIA & A Ayad: 9Ycs ufel Bid

ft Jsraa: 9vo ufer sRfifdra &=t arcr a3

safere, @ srfifda &R arct gey d gwy & Sl Afder o wemsneT &

[Question ID = 2753][Question Description = S2_qSNz_PG_GP38_Q28]
1. Fallacy of Illicit Major/sicem - 2ireer - Qi

[Option ID = 11009]
2. Fallacy of Illicit Minor/smear - uet - giw

[Option ID = 11010]
3. Existential fallacy/siR¥dacafiors - gra

[Option ID = 11011]
4. Fallacy of Undistributed Middle/sreamd - 3 - giw

[Option ID = 11012]

24) In the Nyaya system, what is an inference called when it is based in its middle term being only positively related to the

major term?

IRl Brgia 3, ddel ATE—A U A A9 w4 3 A Slol 3 IolHTol DI aRII D3l Sl & SId AT FAD g US UR MMENied el &



[Question ID = 2754][Question Description = S2_qSNz_PG_GP38_Q29]
1. Kevatarvayi/@acisioa=ft

[Option ID = 11013]
2. Kevala-vyatireki/act - wifeRdt

[Option ID = 11014]
3. Anvaya-vyatireki/seqen - cafeRdt

[Option ID = 11015]
4. Vyatirekanvayi/cifeRorodft

[Option ID = 11016]

25) Given below are two statements :

Statement I: In the Nyaya system of inference, the major term (sadhya) can exist without the middle term (hetu).
Statement Il: According to the Nyaya system, the middle term (hetu) cannot exist without the major term (sadhya).
In light of the above statements, choose the correct answer from the options given below

oflar or @eret feu a1e 3 ¢

Dol - | : 3rogIel D AR RIgia 3 A1eA - U &q - Us @ {doll 3il¥dcadrol 3l Addl &
Dol - || : I Rigia @ SRR 3d-Us ATEA-Us @ fdell 3i¥cadre o8l 36 A®dl &
SWRT> DUsll B IIElID 3, ofil fu 31w frapeul 3 A A8l IR DI TR:ol DHIfSTT

[Question ID = 2755][Question Description = S2_qSNz_PG_GP38_Q30]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Sleil cer &

[Option ID = 11017]
2. Both Statement | and Statement Il are false/@ermwr | iz || Gloil sriT &

[Option ID = 11018]
3. Statement | is true but Statement Il is false/@err | 31 8, fbog werer |l sricr &

[Option ID = 11019]
4. Statement | is false but Statement Il is true/@emt | sRicT 8, fbog weret | 31T &

[Option ID = 11020]

26) Bluetooth is :
oCIcA & -

[Question ID = 2756][Question Description = S2_qSNz_PG_GP38_Q31]
1. Wireless LAN protocol/arReRI uel & wel Qictaic

[Option ID = 11021]
2. Short-range data transmission protocol/erg 351 SteT YARvI Gictdict

[Option ID = 11022]
3. Interoperability protocol/stea: yarerofter gictater

[Option ID = 11023]
4. Peer-to-peer networking protocol/mrepeft (dRR) 3 Iwimett (dRr) sicafesst Yickmia

[Option ID = 11024]

27) What is Pixel density?
fora¥er &otca a=m & ?

[Question ID = 2757][Question Description = S2_qSNz_PG_GP38_Q32]
1. Number of pixels per column and per row on a monitor/ue sifefic Uz yfer wicwr sl yfer ufep fUaRict ot A=n

[Option ID = 11025]
2. Number of pixels per square centimetre/yferast Jichfics fiaRicar &t e

[Option ID = 11026]
3. Number of pixels that make up an image/ftaR¥ct &t 3= st fop i), b gotrae ¥ ggep &t

[Option ID = 11027]
4. Number of horizontal and vertical pixels that make up a screen display/éifert 3iiz eafer faRicr & 3 it 6 Iqter 33l 6 dotrac 3 GIeb at

[Option ID = 11028]

28) Given below are two statements: regarding the JPEG file (Joint Photographic Experts Group) :
Statement I: JPEG files use a lossy format file compression method.
Statement Il: JPEG is used to store photographs as a reduced file size.

In light of the above statements, choose the correct answer from the options given below



JPEG (sarsc BIdepfse waaad aas) & ai @ ofkd < werl Ru o1 3 :

@od - | : JPEG wrse=1 3 31R1d gfereu wisel Adlsol faf2r o1 Iu=iler aiar &

@l - |l : JPEG oI Uil @a T 318 BIsdl PR @ WU 3 WICHRIGE ®I 3ol 3d JIdI &
SWwRET> Dol @ 3iIclid 3, il o e fawmeul 3 A JE 30 @I a=Iel HifSIE

[Question ID = 2758][Question Description = S2_qSNz_PG_GP38_Q33]
1. Both Statement | and Statement Il are true/aerer | 3iz || Sloil 3rcer &

[Option ID = 11029]
2. Both Statement | and Statement Il are false/@eret | 3i2 || Glail sRicT &

[Option ID = 11030]
3. Statement | is true but Statement Il is false/@epr | 3= &, fboq @ee |l 3R &

[Option ID = 11031]
4. Statement | is false but Statement Il is true/@emt | 3RIcT 8, fbog @erer | 3T &

[Option ID = 11032]

29) Which of the following statements are correct regarding Random Access Memory (RAM)?
A. It is an internal chip where data is temporarily stored

B. It stores the part of operating system currently in use

C. It is used to store the BIOS

D. It is non-volatile memory

Choose the correct answer from the options given below:

I0SH VAR AARI (IR € wd) @ aR I forolfcilRad oo wue & 38l Pl @I gfelu :
A. I8 v e R Bl 3 R ster o srArfl U I sisifea e siar 3

B. s aciarret 3 SURIET 3 38 MuRfesT Rzedl @ HPT ®I %S Bl 3

C. 3T 3ueT & 3E 3l U D %Sk 3g BT &

D. =16 31z - cliuefiar (dicirerser) At 3

il fou o1 fraseul 3 3 I IR BI W6l HIfSIE :

[Question ID = 2759][Question Description = S2_qSNz_PG_GP38_Q34]
1. A, Band C only/@aa A, B aiiz C

[Option ID = 11033]
2. Cand D only/@qa C sik D

[Option ID = 11034]
3. Aand B only/dact A iz B

[Option ID = 11035]
4. A, Cand D only/a@ae A, C sfiz D

[Option ID = 11036]

30) Match List | with List Il

List | List 11

IType of Software Example

IA. Word Processor  |l. Mac

B. Database Il. Open-office

C. Operating system |III. Oracle

D. Utilities IIV. Anti-virus

Choose the correct answer from the options given below:

IxEht -1 o1 3 -1l 3 Fafera Hifsie

et -1 et -l
(2liTcdRR B yoR) (3cT8201)

A. o gidrer I. war @ 2ft

B. srerar I, aivdior - afifisar
C. siiufar Rreca . staer

D. géifiR IV. utt - arerr

ofi< feu ame frpeul 3 A A8l a2 gfere ©

[Question ID = 2760][Question Description = S2_qSNz_PG_GP38_Q35]
1. A-l,B-ll,C-lll,D-IV

[Option ID = 11037]



2. A-ll,B-Il,C-l,D-IV

[Option ID = 11038]
3. AL, B-Il,C-l,D-IV

[Option ID = 11039]
4. A-IV,B-lll,C-l,D-lI

[Option ID = 11040]

31) India's national-level forest policy dates back to :
RA DI ASERT Faz B dot ofifer w1 feifdr forerizor wa @1 3?7

[Question ID = 2761][Question Description = S2_qSNz_PG_GP38_Q36]
1. 1894

[Option ID = 11041]
2. 1952

[Option ID = 11042]
3. 1988

[Option ID = 11043]
4. 1994

[Option ID = 11044]

32) Given below are two statements :

Statement I: Amorphous silicon is highly light absorbing material.

Statement Il: Amorphous silicon is not suitable material for solar cell development due to its non-crystal properties
In light of the above statements, choose the correct answer from the options given below

ofil &t werer Ru sme 3 :

@erol - | : sifépzectin Riferdpiar Sca ¥a= @ gwmi9r @iy AEEL &

wee - | : sifipzechia Riferdiel s31d 31k - Rpzee JpurenEit @ BRI AR Ad D PRI & e S AREH ol &

SRt @il @ 3irelld 3, il fu sre fameul 3 A FE IR @I =6l HIfdIE

[Question ID = 2762][Question Description = S2_qSNz_PG_GP38_Q37]
1. Both Statement | and Statement Il are true/erer | 3iiz || Steil Jeer &

[Option ID = 11045]
2. Both Statement | and Statement Il are false/aerer | iz || Gloil sRicT &

[Option ID = 11046]
3. Statement | is true but Statement Il is false/@err | 311 8, fbog @ || sRic &

[Option ID = 11047]
4. Statement | is false but Statement Il is true/mermt | spic 8, fbog wewer || 1 &

[Option ID = 11048]

33) Which one of the following has, both positive and negative radiative forcing in the climate?
foratferRaa 3 A Pl A Td D SRy (TCHsAC) A LGIcHD 3R YIUNCHD Sloll AUS:UTefied a1 urn siar 3 ?

[Question ID = 2763][Question Description = S2_qSNz_PG_GP38_Q38]
1. CO; (Carbon dioxide)/CO; (wrdor SK sa=iss)

[Option ID = 11049]
2. CH4 (Methane)/CHy4 (3ftdar)

[Option ID = 11050]
3. NO; (Nitrogen dioxide)/NO; (cisqIsiol SI 3ifdRISS)

[Option ID = 11051]
4. 03 (Ozone)/03 (3Msior)

[Option ID = 11052]

34) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Lockdown in 2020 in India was imposed under the Disaster Management Act

Reason R: COVID 19 is the first pan-India biological disaster being handled under the Disaster Management Act
In light of the above statements, choose the correct answer from the options given below :

ofl 3l Berel fRu st 3@ uap sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

affdrperet (A) @ sira A 2020 # cifwsiSol MUt Yeere ifeforaA @ sidsld ceImrRI sRI a1

@RI (R) : 3muct yders siféforar & sideia el sior arcll aifds - 19 yeer dAgel sira Far & Sifae smugar 3



SURID Peoil B 3iIciid #, ofld fGu faacdl 3 A 38 3az &1 wrRIel Hifsrw -

[Question ID = 2764][Question Description = S2_qSNz_PG_GP38_Q39]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlall 311 3 3iR (R), (A) &t 3 Rz &

[Option ID = 11053]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) Gleil 31 8 udoq (R), (A) 6 34 wmen ot 8

[Option ID = 11054]
3. Ais true but R is false/(A) 3 3, woq (R) 3= 8

[Option ID = 11055]
4. Ais false but R is true/(A) sric 8, wog (R) A= 3

[Option ID = 11056]

35) The faintest detectable noise by a healthy human ear is of :
Th AT Aleld B DIol DI SHVIadH Fa2 U ac ural arcfl simarst fabdaor 3R1acr & aicdl 3 ?

[Question ID = 2765][Question Description = S2_qSNz_PG_GP38_Q40]
1. 0dB

[Option ID = 11057]
2. 1dB

[Option ID = 11058]
3. 10dB

[Option ID = 11059]
4. 20dB

[Option ID = 11060]

36) The time gap between two sessions of the Parliament should not exceed :
G D QX AI D i JIRT HoaRIcT 3R AP I1 Slall AT ©

[Question ID = 2766][Question Description = S2_qSNz_PG_GP38_Q41]
1. 3 months/3 s&lor

[Option ID = 11061]
2. 5 months/5 #dlor

[Option ID = 11062]
3. 6 months/6 #idlor

[Option ID = 11063]
4. 12 months/12 s&dlot

[Option ID = 11064]

37) Uin AYUSH stands for :
3IRY (¢ a1 Y e wa) A U dfera 3 :

[Question ID = 2767][Question Description = S2_qSNz_PG_GP38_Q42]
1. Urban/arder

[Option ID = 11065]
2. Universal/ygforazfer

[Option ID = 11066]
3. University/gforaf3f

[Option ID = 11067]
4. Unani/goimwoft

[Option ID = 11068]

38) Inter University Board set up in 1928 to promote University activities by sharing information and co-operation in the
field of education, culture, sports and allied areas is now known as :

3R - [eafdencr diS @1 31601 1928 3 SRl AT B2 3R forgm, @i, e iR AdfiEa gl A AP Rl faafdencrr &t siferfaferi
@I YIcA1gal Sol 3 fovar sk 331 31 b ol A Sirell Siren 8 ?

[Question ID = 2768][Question Description = S2_qSNz_PG_GP38_Q43]
1. Association of Indian Universities/smaciler faeafdencrr e

[Option ID = 11069]
2. Central Board of Secondary Educators/dg ameafdas forem ars

[Option ID = 11070]
3. Central Advisory Board on Education/@dfr forgn Jciizdr @

[Option ID = 11071]
4. University Grants Commission/fd=afdernerI srejcrel 3iRieT

[Option ID = 11072]



39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Government is preparing high quality bilingual textbooks and teaching-learning material for science and
mathematics to enable students to think and speak about the two subjects in their home-language/mother tongue and in
English.

Reason R: Government should promote all regional languages

In light of the above statements, choose the most appropriate answer from the options given below :

ofidI ot Pl fGu ste 3 @ U sifdrerst (Assertion A) @ ¥u 3 3R eI 3@ PRI (Reason R) @ »u 3 :

sifdrpere (A) @ IRDR I<a JUIa arel feurdt urger grad 3iiz fase sii= sifdra @ fere fdrgvt siféera AeEf @1 fopiivr o i 3 Rl b
foremeff Setl foreril @ ar 3 sruoflt Ferofir simar / FTgsiTeT 3= 3iv)shl simar 3 Aot 3R dlerol AT 3 AD

@Rt (R) : DR @1 23t ST srumsii @1 Yieanida won aifde
SR Dol D 3Iclid H, ofl fGu famcdl 3 A 7 3a= &1 wRIel Hiforw -

[Question ID = 2769][Question Description = S2_qSNz_PG_GP38_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) g¥ail 21t 8 sl (R), (A) &t 3 = 8

[Option ID = 11073]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 38t 3 woq (R), (A) 6l 3t Rz ot &

[Option ID = 11074]
3. Ais correct but R is not correct/(A) & 2 w3og (R) 3 ot 3

[Option ID = 11075]
4. A‘is not correct but R is correct/(A) @t siét 8 weog (R) &t 2

[Option ID = 11076]

40) Given below are two statements :
Statement I: Values are an enduring belief about the way things should be done or about the ends we desire

Statement II: The values we form are influenced by our circumstances families, friends, age, gender, environment,
tradition and culture

In light of the above statements, choose the most appropriate answer from the options given below :

ofil &1 erer Ru ame 3 :

Dol - | : Jeu disll ol [P wu 3 oA Stron aifde 33D aR 3 rerar qifesa 389Ul & aR 3 v FARM A 3

wee - |l : Ko Jeil o1 foraafor a1 w2 3 A zast ufRaferd, ufkar!, B, 39, k1, gafazul, wusr siiz dAvafer A genfaa 3 3
SWRfTd Dol @ irciidd A, ofial feu a1g fameul 3 A A& IR DI arel HIfSE

[Question ID = 2770][Question Description = S2_qSNz_PG_GP38_Q45]
1. Both Statement | and Statement Il are correct/aerat | 3iiz |l Sleil 258t &

[Option ID = 11077]
2. Both Statement | and Statement Il are incorrect/eret | 32 || Sl a1cta 3

[Option ID = 11078]
3. Statement | is correct but Statement Il is incorrect/werer | 3@t &, fpog @ere || srer &

[Option ID = 11079]
4. Statement | is incorrect but Statement Il is correct/@emt | s1cia &, fepog et | &t 8

[Option ID = 11080]

Topic:- GP38_D3_SH2_SET2_C

1) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those enormous creatures of the sea
which are the largest remaining animals in the world. To protect the whale from the cold of the Arctic seas, nature has provided it with a thick covering of
fat called blubber. When the whale is killed, the blubber is stripped off and boiled down. It produces a great quantity of oil which can be made into food
for human consumption. A few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick

children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may be made from the oils of

certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to oil s/he almost always means
mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel locomotives; the oil that is used to lubricate all kinds of machinery.
This is the oil that has changed the life of the common man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we
owe the existence of motor car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the

methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some ways, it is superior to



coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is used for illumination; countless homes are still illuminated

with oil-burning lamps. Because it is very slippery, it is used for lubrication.
ofla feu srerion o ufgu siiz gest o1 3= v @

et @ ofiot yg@ Ads T : SioraR, gorrufe, 3 Wforsr SieraRl A gra Slot aret der &bt &t Ay o3ar A grd Bl 3 St b A1dgg B farener Sfta 3 st g & T &3 PR ard T ge
SIolaR & B HAg DI Al A et B R8N Bl D fore yopfer of 331 a=edl Bél Sirol arefl 911 A D g8 U Yglol b1 3 SIa o3el el 3, ad a=el @l forprcrd: 3A IareT
3 3 us da b g3t A DY 3cUool Bkl I RBRIA ATora Iusiler & fore warer ucrel SolrI ST AGATr 3 BB 3eA PIORI A Aet foraen sirar 3 Aftber s3ar & Kidon Rt o A o1dY
e Al s @I Adxd 3iR Scflae amd et faAR gl iR 3o g coll @ RBred @w foifdia freifdror & smraearaar dxdl 81, Jorwl 0w sma 3

dorufer del @ aR 3 Yrilol wa A Sierersl 3 oMl spszer @1 sa® el o1 o1dl @erar; safee e 531 siisiel Jotrol 3 YRIed b= sirer & uRuRIgn @o forfua well A formrer
31 dct A Fol Bl ADA & Agol dorrufel 3R SIeraRI @ del A Tollg S

T ATEIRYI IGH @ g, da D v YdR g @ S Ascayul 8 Add & Afipel S Astoldn srerdr $Sfiforr ol der A Jider xaa 3 dl Sermr sifrmiera: arcwl wforst de A dar
3 ; a8 dd S i Tk, zars sweEl SR Yg uldl, Aler BRI 3R Sistar dieifea a1 Fafera war 3; a8 da sit Asft goor & aAoficll & fore ol D dlk ur ygm Aar 3 A6 dal
ol e scaft @ Sfider o) gea I3 /9 334 U @ »u A ufenfa fvar siar 8 aq s $5ie1 @ sfoal¥a ol @ Harcrol A YIb o SIear 3 5393 e AlcydR @ dlol &
gfespull 3, Rrior 8ist 2 A Skl sietarcl AsPEIst o gitrenfia o2 a1 sad o Sswell & gfeseoft 3 5310 Fore, Adg 3R arg A oS Sirel ardl g D askaol o aca R 3 s
YR @1 dd Stflel D il 3 formren siar 3 oIl A6 sl avs caal dlar 8, $AfRIT DT YRIT $erel  HU 3 SIaI 3 3iR $ADI asie A 5 sl I U6 DRI A JsaR ATl SITAT
& dgd A 93 SIB6I d DRIcl dl SP1E el DY $86I D diz U SURPI A O I a6 aameR add A SIArdI 8, A8 YDII dol D fore Iuriler diar 3 sroifdrora ari 3 anfl off der
3 SIcrol arel ¢y A A9l g el ¥ il As 3iffres fswctol aren 3, AR $ADT IURNGI Foled D U & alar 3

Vegetable oil is/was :
qorufer ol @ an i ©

[Question ID = 2771][Question Description = S2_qSNz_PG_GP38_Q46]
1. Known to people since ages/cliell @I Joii 3 Ul &
[Option ID = 11081]
2. Unknown in ancient times/yefter et 3f sr=ire e
[Option ID = 11082]
3. Known only in the old days/@det yrciior Rt 3 8l uar en

[Option ID = 11083]
4. Known only to old people/dact garol clisit @t & uar &

[Option ID = 11084]

2) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofla fgu srerion ol ufgu 3R yost a1 Ia= SifSe @

el @ ol Ygd Mg & © SlelaR, dorufel, 3R Fforsl SieraRl A Yri Blol arel del I aSt Ay o3l A Y Xl 3 Sl e 2gIg & fromar sfia 3 sit
fera @ A 93 PR dIcl A §U Sllold? 3 ipfed AHg b AT A sder DI F81 Dol D fere yapfel of 53 aedl Bl Sirel aredl aa1 A ¢ gu
U Ygalol fopr 3 S odet 3¢l 3, ad arell Bl forpIciap: 3 IdIel ¢dl 8 A del DI TSI AL DI Icool Dl & RIRIRI Alold IusEI @ fére wrer
ucref S6IRI Sl ADAI 8 BB 3163 IR A el foraen Stiar 8 cifdbel odcl @ fSidon b=l 316w 21 oiél e sledi  ®fs I A 3R Scilac add
et dloR acdl 3R 316 G cliell @ fored oo forf2ia fRelier & smavadar aiclt 31, Sorp! 6w s

FolRUfeI et @ dR 3 Yrdiol dcl A SIIPRI & bl 3[e3e @1 s ol BT ofdl dcidr; s=Afere b 30 siistol dollol d QRITb fopenm Sirar 3
TR @ forfaa weil 3 formrcl 318 el A ol 8l ADd 3 Aol dorzufel iR SilorarRl @ el A TolIg SIid 3

U ATERVYI 316l B fe1u, el @ Ud YR g B SR HcayUl 8l ADd & ciftpol SId ASIoldl 31l SSiiforRR b2l det A HAder xad & dl Ioidl
aiferepiore: arcuzt aforst det A 31 3 ; dg dd Sil 6 Topl, zard SIerEll R g Uldl, Hlek PRI AR Slerd cimdlifea ol Adaifera o 3; a8 de
it il g 6t Al @ o1 Foled B dlz UR YUTh SII & As del ORIo! 313 3Gl @ Siiaet f acat G 3 o9 33 Uglar @ su 3 uf¥onfira
fopan Strar 3 a9 321 35Tl @ 3ol el @ Idiclol d YU fopI Sl 3 39 i dHiceR @ Blol @ yferspufl 3, Rrtol dIsI A o SR siolaredl
ASPIE! @l Yfereanfid o B 3@ foru Ssmell & yfespoll & $2r0! Fered, g Sk ary 3 oS Siiol ardl g D Il @ acel 3 & 531 R
@I del il @ ofl<l A formIetl ST 8 TRIID A6 IS A6 ol BIdI 8, SAMTT FADI YRIIPT $€61 D U 3 BII 3 1R DI dole A 57 e A
s PRICT I J&R ATGH SIIAT & a5 A TS SIEISl /A DRICK Bl SPIE el DI $eel D dl U2 IURPI d Ad 3 aiifdp A6 THDR aidd A S 3,



G DIl Dol D feT8 SURNBT BXdr 3 3feIfSTord &=l 3 3nfl sft e A Sicrel aral dfu A Aok g axdfl § a=ilfes 16 siftras fsaacter arerr 3, saferg
SADI IURIIGI Foled D U 3 3l &

According to the author, whales are:
D D AR, 6T 8 ©

[Question ID = 2772][Question Description = S2_qSNz_PG_GP38_Q47]
1. The largest animals that have ever lived in the world/>a3 sl Sieraz St foea 3 adon 3 @t & &

[Option ID = 11085]

2. The largest animal living in contemporary times/m@ipIciior R 3 Sifdd AR ISt ol &
[Option ID = 11086]

3. The largest reptile/3e=t a3t 23z

[Option ID = 11087]
4. The largest animal living in Caspian Sea/®RwIar e ¥ Sifdd et st Siroaz

[Option ID = 11088]

3) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofla f3u arerion @ ufgu 3iir gest o1 3= i @

et @ ol Y3 A3p & © SlelaR, dolufel, 3R Fforsl SieraR] A YId lol ardl del bl a$t Ay o3¢l A Y il 3 Sl b g @ freme Sfia 3 st
fora @ AR §3 PR arcl &< g8 SIelR 8 3MIDICd G DI AL A adet DI RGN Dol D 18 Ymier of 31 TRel D3l Silel arcil a1 A G gu
Ud YgTlal {1 & SId oael ¢l 8, ad IRdl DI foIdpIerd? 3 IdIel Sl & A dIcl DI SIS A DI IcUool Dl & PRI Aeia IueT & e Frer
ucrel JoIRM Sl ADGAI 8 @B 3161 YIRIL A det forwent Sirar 3 cifdpel ot @ frdet bl srov1 21 odl gt dlar - &bfs @1 A $iiR Scflac a@ma
et e a<dl 3R 36 g sl @ Ries oo forfdra frerf3ior &t smagaraar il 81, Joropt Ry et &

dorrufer dct & arR A Yol o A SRl 3 5l sfere @1 s3d e ®E oidl acdar; sAafere f6 33 siisiol dotrol A PRI fpen siren &
URWR oo foiffaa weil A formrct 318 det A dol & ADd & Aol dorrufel 3R SeldRl @ del A Tollg SIId 3

U AEIRYI 3IGHl D fore, et & td YbR g @ SR Ascayyl 3l Ada 3 cifepel S AsToldl eI SSlforR Bl et A Ader aa 3 dl Ioldl
siferepiora: arcuxt wforst der A 31 3 ; a8 de Sl o5 Topl, saré STewEl iR P didl, el BRI iR st diowiifea ol Aaifera o 3; a8 dd
Sit 19l gy b wA9ilell D ferg Folem @ dlk Uz Y i1 8 A8 del Rriol 3113 3116dl @ Sfidol @l goet fGar 3 519 33 Uil @ 3u i ufyenfera
o= ST 3 a4 330 SSTol @ Jfodled Gaol @ FdIctol 3 Yo vl SIar 3 s fore dicedRr @ gl @ yferssofl 3, ol 1St A o SIRf siorarch
HISPIE B yfrenfia o2 R sad Rie 3soil & yissoll ¥ sa6l zord, J9g 3112 arg A 3 SI9l ad gg & asial Bl ac a1 3 53 yoR
@I el Siiol @ ofl<l 3 formIetl Sl 8 aRIID A8 TSI A6 ol BIdl 8, AT FIHADI YRIIPT €61 D U d BIAI 3 3R 3ADI dole A 57 e 3
UG PRI I &R A SIAT 3 95 3 IS SIEIST 3 BRIC Bl SPIE el DY $erol B Al U2 WINPT J A Riifp A JadsR adtds A Sielrdr 3,
B YDIT Bl D fo1g IuRieT AXdr 3 sioifdrord @l i 3l 9ft Act A Siciol arel dfa A Aol g Acdt T a=ilfes us siffras fbacter arcn 3, sAfee
SIDI IWRIIGI Foled D B4 I 3ldl 3

Which one of the following is NOT one of the three main purposes for which mineral oil is used?
forgotferRiaa 3 wlol AT v ol Fzoa 392l & A ordl & foradd fere forst det @1 suRile fpan sirar 8 ?
[Question ID = 2773][Question Description = S2_qSNz_PG_GP38_Q48]

1. For lighting/ydluot @ fere

[Option ID = 11089]
2. As fuel for motors/diicz @ fom Serard u 3t

[Option ID = 11090]
3. As an economic power/3nffm oifeb @ 3u 3

[Option ID = 11091]
4. As lubricant/oles® @ 3u i

[Option ID = 11092]



4) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofla feu srerior @ ufgu 3iiz gest a1 3= v @

et @ ol Ygda 3@ 8 : SilolR, dolrUlel, iR Hforsl SIelaR] A YIH 8ol drcl el DI JI3T AL o&cl A Y il 3 Sl b 31g @ feromer Sfia & St
fara @ AGA 93 PR dIcl § U SlolaR & IBIed AHg DI AfSAT A sdel B A8 Dol D ferg yaler of 337 aredl wél ol aretl aar A b gu
Ud Yglol fop 3 S odet ¢l 3, a9 arell ol forpIcia: 3 IaIet S & A dcl Dl TSI AL DI ool Dl & RIRIRI Al IusieT & e arer
ucrel JoIRM ST ADGAI 3 @B 3161 YIURIL A det forwedr Sirar 3 cifdpel o3ct @ fRidelr fop2fl sr6=1 21 offl g dlar - &fs @1 a@d SiiR 3cflac a@ma
et dieR a<dl 3R 36 g cliell @ Rios oo forfa freiflior &t smagaar aicdt 81, Jorot f3u i 3

dorrufer dcl @ aR Jd Yrilel o A SIeipRl 3 el sjeee @1 s ol oM ofdl gcdar; sAfere b 33 slisiol dJolrol A YT v St &
TR oo foiffad weil A formIct 31 det A dol & ADA & Aol dorufel iR SeldRI @ del A Tollg SIId &

U ARV 3IGHl D forg, dcd & v bR g} @ S Ascayul 8l Awad 3 cifcbel S IASTeldr 31erdr SoiforR bl et A JAder 3xaa 3 dl Ioldr
3iferepiora: arcuRt Zaferst del A 31 & ; a8 dd Sl b Topl, sar SEEl 3R g Uldl, Hice PRI AR sl dimiilfea ol Jdaiferd ddar 3; a8 dd
it 319fl gopr bt AA9fiGll D foru Foled @ dlk U= I S & A8 del RRIol 3113 31163ft B Sfiael @l docl e 3 519 321 UGkl @ »u 3 uf¥enfea
fep=1r SIretT 3 a9 33 $5Tol D oAl Geol B AdIcTol A YITb [T SIAI & $AD 18 AIIDR D Blol D Yferspull 8, SRol A1s A o SIRi Storarctt
HISPIE] @ Yirenfid o2 B sa9d fore Ismell @ giespoll 3 $30! Fered, g Sk arg A oS Siiol ardl g d Il @) acel 30 3 59 yor
@I ddl Sifiel @ ofil A formren s @ RIIfP 6 IS A6 ool Bl 3, AT DI YRIPT &6l D U 3 BIdI 3 3R Ah] dole A 37 cel A
S PRI I &R A SIIAT 3§95 3 S SIIS] 3 BRICI Dl P16 del DY $erol D Al Uz WINPT J dd & P A8 JedcR astd A Sieldr 3,
AT YDI9T B D fo1e IuRNeT BXar 3 sioifdrord &=l 3 3l off Aer A Sicral arel &fa A Aol yra 3t T a=iifes ws siftres fb2acrer aren 3, safere
SADI IURIIBI Foledd D U I 3l &

"No household can get on without vegetable oil, for it is used in cooking”, means:
"fpfl spE¥er @I dorufer del @ 6l D1 o8l actal aRilfs DI YRISI HISIol Jollol 3 Bldl 3" ADI dIeu:d 3 :

[Question ID = 2774][Question Description = S2_qSNz_PG_GP38_Q49]
1. Households and vegetables oil cannot get on with each other/srgzer 3iiz doreufer det sfoe1 G @ el o1dl et AT

[Option ID = 11093]
2. Households can manage without oil/3srEe cllell T DI el dd @ el ADd 8
[Option ID = 11094]
3. Oil is an essential ingredient in cooking, so households need it/det 9iiStol Golrol 3 SMALRID 3IRIA & SAfCTE 3[a2ell BT SAD! MARIDBA Blil &

[Option ID = 11095]
4. Households can get on with cooking without vegetable oil/s[azer fifem doreufer det aret 9iistol @ AT 3 AD 3

[Option ID = 11096]

5) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the



methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofia feu srerior @l ufgu siiz gest o1 3= v @

Act @ «ilol Y3 Agg & . Slolar, dofufe, 3N Fforst SifelaRl A Yrd slol arcl det bl a3t dArgn oact A grd kel & Sl fb Agg @ faremet Sita 3 sit
fora @ AGA 93 PR dIcl § gU Sl & IBIed AHg DI AfSAT A sdel Bl S Dol D ferg yaplel of 337 aredl wél ol aretl aar A b gu
Ud Yglol fop 3 S odet ¢l 3, ad arell ol forpIcia: 3 IdIel S & A dcl Dl T$1 AL DI Iclool Dkl & RIRIRI Aol IusieT & e arer
ucref JoIRM ST AGA & BB 316 YIORIT A der foraen Sirar 3 Afdpel oder @ et b2l sro A ol i dlanr - &fs @1 ada 3k Scflac ama
et iR a<dl 3R 316w g dllell @ Ried oo forfa freiflior &t smagaan gkt 81, Jort Ry i &

dorrufer del @ aR A Yol od A SRl 3 el sjeee @I s3d o oE ofdl acar; sAfere b 3 slisiol dollol A Yo v St &
TR @ foifaa well A formrel 318 et A Fol 8l ADd 3 Aol dorrufer iR SioraRl @ el A T6le SIId 3

Qo ARV 3GHl @ forg, dcd @ b bR g} @ S Ascayul 8l Awd 3 clfcbel S IAsteldr 31erdr Soliforr bl der A JAder 3xaa 3 dl Ioldr
3iferepigra: arcuRt Zaferst del A 3IaI & ; a6 dd Sl b Tpl, sar SeEl R g Uldl, Hice DRI 3R sl dimiilfea ol Jdaifera ®dar 3; a8 ddd
it 39fl gopr &l AA9fiGll D foru Foled @ dlk UR QI B & A8 ddl RRIol 3113 31163l D Sfigel @ dodl e 3 519 321 Uil @ »u ¥ uf¥enfea
fep=11 SIretT 3 a4 33 $5Tol D 3ol Geol B AdIclol A YITb AT SIIAL & $AD 18 AIIDR D Blol D Yferspull 8, SR1ol A1st A o SIRi SToidrett
HISPIE] @l yfrenftd o2 B s fore Ismell @ yiespoll 3 50 Fered, g Sk arg A oS Siiol ardl g d Il @) acel 31 & 53 yor
@I ddl Sflel @ ofil A formren s @ RIIfP 6 IS A6 ool Bl 3, AT $IDI YRIPT &6l D U 3 BIdI 3 3R D! dole A 7 cel i
S PRICK I &R A SIIAI 3 G5 3 IS SIIS] 3 BRICI Dl SPIE del DY $erel D Al Uz IWFI A dd e P A8 DGR astd A Sieldr 3,
G YDI9I Dol D 18 SURIET BXdr 3 3reifsrord &=l 3 3nfl st e A Sicrel aral dfu A Aereh yia axdl § a=ilfes a6 siftra fsaacter aren 3, safee
SADI IURIIPT Foled d BU 3 Bl &

Oil-burning lamps:
dieT A SIcTol drel ¢y :

[Question ID = 2775][Question Description = S2_qSNz_PG_GP38_Q50]
1. Are used in more and more homes nowadays/srsflsft siferes 3 siferes @i 3 YIp 2l &

[Option ID = 11097]
2. Are not used at all/ 3@ g ol 8iar &

[Option ID = 11098]
3. Burn more brightly than any other kind of lamp/3siee1 YR @ ¢iu 3 Sifeld diderR d¥d A Skl 3

[Option ID = 11099]
4. Are used by a large number of people, although not so many as previously/sifére e 3f cill GRI Yeb Il 3, eIl Uacl D fSidol 3iférd oIdl Iu=iler alar 3

[Option ID = 11100]






